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A1  A2  A3  
Write down the integers which satisfy the 
inequality 

2 ≤ x ≤ 7 

 

Write down the inequality shown on the number 
line. 

 

On the number line, show the inequality 
1 < x < 5 

 
B1  B2  B3  
Write down the integers which satisfy the 
inequality 

–7 < x < –2 

 

Write down the inequality shown on the number 
line. 

 

On the number line, show the inequality 
–4 < x ≤ –1 

 
C1  C2  C3  
Write down the integers which satisfy the 
inequality 

–3 < x ≤ 3 

 

Write down the inequality shown on the number 
line. 

 

On the number line, show the inequality 
–5 ≤ x < 3 

 
D1  D2  D3  
Write down the integers which satisfy the 
inequality 

–1 ≤ x ≤ 5 

 

List the integers that satisfy the inequality which 
is shown on the number line. 

 

On the number line, show the inequality 
–4 < x ≤ 2 
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